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Note : Attempt any five questions. All questions carry equal

marks.

1. (a)

(b)

(b)
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Define Hydrology. What do you 1+4
understand by hydrologic cycle ? Explain
it with a neat diagram.

Explain the rainfall intensity. Give its basic
unit and also write the Formula for
calculation of average rainfall intensity. 2+1+2

Write short notes on the following : 5x1=5
(i) Infiltration

(i) Evaporation

(iii) Hydraulic conductivity

(iv) Time of infiltration

(v) Rainfall Excess

Define seepage. List the different factors 1+4
influencing seepage.
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3. (@
(b)
(c)
4. (3
(b)
5 (a)
(b)
(©)
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Differentiate between actual and reference
evapotranspiration.

What are the different factors which
influence evaporation ?

Define water balance by a general
hydrologic equation. On what principle it
based ? Expressed each parameter of water
balance equation along with the units of

each parameter. 2+1+2

What do you mean by rainfall ? List the
main types of rainfall.

How rainfall is measured ? Explain with
the help of neat sketch most common type
of non-recording rain gauge.

Explain the conditions under which
arithmetic mean method of estimation of
missing data is used.

What are the different assumptions of
Rational method ?

Calculate the time of concentration for a
watershed having maximum flow path is
2500 m with average slope of 4%.

2+3

1+4



6. (a)
(b)
7. ()
(b)
(©)
8. ()
(b)
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What do you understand by water
pollution ? Differentiate between point
source and non-point source of polllution.

Differentiate between apparent and true
colour of water. What instrument is used to
measure the colour of water ?

How the acidity and alkalinity of water is
measured and what is the pH of pure
water ?

Distinguish between Bacteria and Viruses.

Determine the total solids per unit volume
for a 50 ml river water sample. The weight
of empty porcelain dish was 110 g and
weight of porcelain dish after evaporation
was 110.8g ?

Explain disinfection process in household
water treatment with the help of neat
sketch.

2+3

3+2

2+1

Write the full form of the following : 4xY2=2

@) BOD (i) COD

(ili) ppm (iv) nm
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(c)  Write answer in one word. 3x1=3

(i) A portion of precipitation that flows
over land surface towards large water
bodies.

(i) Line joining points of equal rainfall
magnitude.

(iii) Sum of dissolved and suspended solids
in water.
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Safas o1 gRINd Sifeu | ety 9% | 39 1+4
1 U §? OIE Y@fEF ® wEEda 9 w4
W H |
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3. (a)
(b)
()
4. (a)
(b)
5. (a)

ONR-002
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6 (a)
(b)
7. (@
(b)
(c)
8. ()
(b)
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A YU © Y 1 WHEAd © 2 WU h fog 243
#a 3iR MR-fog &g & @R # o= HifSy |
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TS P T AN RAT HY A St § AR 241
YETA AT RE ?

ST SR foreTe] ¥ SR ) T FH 2
50 fireft, 76 9 ¥ TR ¥ U A F@ IR 5
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frefafed & @ Tm fafaw 4xYp=2
(i) e
(i) ¥
(i) 9T

(iv) TATH.
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(c) Frafafas &1 s = A T 3x1=3
(i)  STEYV H T WM S 9L A TwE &
9fd 9 TqE F FW yarfed S g
(i) EEE I GRAMT (magnitude) & fogal

1 e It |
(iii) & H g R feifaa S w1 Frw |
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